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o rectangular numbers areé also square numbers:
{15, 18, 36, 45, 64}7
Write in order, starting with the least:

-5, 0, 4, -11.
Eighteen children in a school wear glasses. 90% do not.

How many children attend the school?
How much for 120 lettuces at €5 per hundred?
Pauric has 114 chestnuts. If he keeps 50 for himself and

shares the rest equally among his 4 friends, how many
does each friend get?

. How much would it cost to carpet a room 6m long and 4m

wide at €10 per square metre?

. What change will | get from €3 if | buy 8 copies at

26 cent each?

. Which is the odd one out: 5%, 0-05, 25, 3 ?
. The Highest Common Factor of 12, 16 and 20 is 4.

What is the HCF of 24, 32 and 40?

How many 25kg bags of potatoes can | fill from 1 tonne?
(Remember: 1,000 kilograms = 1 tonne.)
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